101, +26.500
o0 = e L Rhito

1.0 +26.200 / 0.300

kN 2 1 00 20 40 60 80 100 pk/0.2m Puolikierrokset
Vapaapainuma



0.0 102, +20.651

P Alku
- -
7
1.0 | Mr
N
n
2.0 PaX [L
sl K o 12¥Kallio

+18.251 /2.400

kN 2 1 00 20 40 60 80 100 pk/0.2m Puolikierrokset
Vapaapainuma




103, +22.640 .
0.0 I == . Alku_.kallio

10 +|22.540 / 0.1OIO

kN 2 1 00 20 40 60 80 100 pk/0.2m Puolikierrokset
Vapaapainuma




104, +21.217
0.0 04, rot2Ar Alku, Kallio

10 +I21.117/0.100

kN 2 1 00 20 40 60 80 100 pk/0.2m Puolikierrokset
Vapaapainuma




	101
	102
	103
	104

